S
201251081 H~201353A30HRFES BEER(eEDRR6. TDMESER) JTA/RAC
EDHRRELX eET X6 rm
ZE
=P WX TR T 1% T T iERmERE ARAAAE
10/1-27 #31%@| 2120 mEiR0| wE M| wE WIEQ[10/1-27 #3EO| VLI wnw0| wE M| BE MIEQ| TE WEO HIEQ| EEH RO E—sH  #H3EQ
1| RE=i"EGRE) JTA 36,300 1% 36,300 11%] 38,500 10%| 42,400 1% 35,500 13% 35,500 13% 38,500 10% 42,400 1% 26,100 36% 39%| 21,150 48%| 25,600 40%
2 | KBR=3F# G 5) JTA 30,100 12% 30,100 12%| 32,600 10%| 35,900 1% 29,000 15% 29,000 15% 32,600 10% 35,900 1% 21,900 36% 40%| 18,150 47% 21,700 40%
3 | tahE =8 L) JTA 23,800 13% 23,800 13%| 26,200 11%] 29,100 2% 22,500 18% 22,500 18%| 26,200 1% 29,100 2% 17,600 36% 41%| 14,950 46%| 17,700 40%
4 | RE=HIiE JTA 50,500 15% 50,500 15%| 53,400 13% 61,000 1% 42,850 28% 42,850 28%| 53.400 13% 61,000 1% 37,950 36% 38%| 29,700 50% 36,650 40%
5 | RR=EnH JTA 47,200 15% 47,200 15%] 50,000 13%] 57,200 1%| 40,400 27% 40,400 27%| 50,000 13%] 57,200 1% 35,500 36% 38%| 27,900 50% 34,400 40%
6 | KER=H1E JTA 41,500 14% 41,500 14%| 43,900 13% 50,100 1% 35,500 27% 35,500 27%| 43,900 13% 50,100 1% 31,000 36% 39%| 24,650 49%| 30,150 40%
7 | hey=;9#E (BRER) JTA 36,200 1% 36,200 11%| 38,400 10%| 42,400 1% 33,400 18% 33,400 18%| 38,400 10% 42,400 1% 26,100 36% 39%| 21,150 48%| 25,600 40%
8 | #aE=1& B JTA 32,650 15% 32,650 15%| 36,400 11%| 40,300 1% 31,000 20% 31,000 20%| 36,400 11% 40,300 1% 24,700 36% 39%| 20,150 48%| 24,300 40%
9 | =% GL#EH) JTA 30,100 12% 30,100 12%| 31,900 12%| 35,900 1% 27,750 19% 27,750 19% 31,900 12% 35,900 1% 21,900 36% 40%| 18,150 47% 21,700 40%
10 | AH#EGRE) =FH1E JTA 19,000 17% 19,000 17% 20,500 15%| 23,600 2% 17,200 25% 17,200 25%| 20,500 15% 23,600 2%| 14,700 36% 39%| 12,100 47% 14,350 40%
| AR =24 JTA/RAC| 9,900 43% 14,500 17%| 15,700 16%| 18,100 3% 9,800 44% 13,200 25%| 15,700 16% 18,100 3% 11,200 36% 40%] 9,350 47% 11,100 40%)
12| RlE=mfh RAC 9,900 17% 9,900 17% 10,800 13% 11,900 4% 8,650 27% 8,650 27%| 10,800 13% 11,900 4% 7,600 36% 39%| 6,400 46% 7,400 40%
13 | BT =AKE [JTA/RAC| 9,700 18% 9,700 18%| 10,700 13%] 11,800 4% 8,600 27% 8,600 27%| 10,700 13% 11,800 4% 7,550 36% 39%| 6,350 46% 7,350 40%
14 | RiE=5#E JTA/RAC| 9,700 18% 9,700 18%| 10,700 13%] 11,800 4% 8,600 27% 8,600 27%| 10,700 13% 11,800 4% 7550 36% 39%| 6,350 46% 7,350 40%
15 | A8 () =5 iR RAC 12,400 13% 12,400 13%] 13,900 9% 14,800 3% 12,300 13% 12,300 13% 13,900 9% 14,800 3% 9,100 36% 41%| 8,450 40% 9,100 41%
16 | P#EGRE) =&EEX XS | RAC 20,700 1% 20,700 11% 22,200 9% 23,900 2% 19,950 14% 19,950 14%| 22,200 9% 23,900 2% 14,900 36% 39%| 13,900 40%| 14,550 40%
17 | A (BBF) =FAR RAC 22,100 1% 22,100 11%] 22,600 9% 22,600 9% 21,150 15% 21,150 15% 22,600 9% 22,600 9% 15,950 36% 36%| 14,800 41%| 14,800 41%
18 | A EHH) = KXE RAC 22,100 1% 22,100 11% 22,600 9% 22,600 o%| 21,150 15% 21,150 15% 22,600 9% 22,600 9% 15,950 36% 36%| 14,800 41%| 14,800 41%
19 | AE=FEXE RAC 7,100 14% 7,100 14% 7,600 8% 7,600 8% 7,050 15% 7,050 15% 7,600 8% 7,600 8% 5300 36% 36%| 4,950 40% 4,950 40%
20 | EE=%EM RAC 7,300 14% 7,300 14% 7,800 8% 7,800 8% 7,250 15% 7,250 15% 7,800 8% 7.800 8% 5450 36% 36%| 5,050 41% 5,050 41%
21 | B (RE) = 5AE RAC 26,600 16% 26,600 16%| 28,400 15%] 32,900 1% 21,750 31% 21,750 31%| 28,400 15% 32,900 1% 20,300 36% 39%| 16,350 48% 19,900 40%
X [ESRREOR, e EVRR 6#IAKM
SRR (BE) =FE. Eh. AXBE, 56/, EEXEXE. mAR. LXK, 5HE. RE=24. 5IE.
MAR=XR. Ea=%2RMBKRIER
R HARAN - 12/7-12/20, 3/8-3/14 ARSI : 12/21-1/6, 3/15-3/30
- FERERR CBEIRICE A
HARG I : 10/1-12/6, 1/7-3/1 HARI O : 12/7-12/13 HARGI : 12/14-1/6. 3/8-3/30

B5IEQ:BEY TKATEBEF 1ML
BB EQ: E—VHI KA BEER IRt




2012510818 ~201343H30HEE S BEEREEZIF]) JAL/JTA/JAC/RAC

BEZIS
[ lide s 10/1-27%s BIBIROD| Y20 BIBIED| E—oH1  BI5IEQ
AiE—H4E (FBER) JTA AiE—H4E (FBE) 9,400 59% 9,400 59% 9,700 60%
RE-BH RAC RE-BH 4,900 59% 4,900 59% 4,900 60%
RiE—5HE JTA/RAC RiE—5HE 4,900 58% 4,900 58% 4,900 60%
RE-FRXR JTA AE-FRXR 40,700 31% 40,700 31% 41,200 33%
GiE—FE= JTA BiE—H4E (FRER) 14,500 37% 14,500 37% 14,700 39%
JAL/JTA| H#E(IRER) — =R 26,200 36% 26,200 36% 26,500 38%
(48 (3RER) ] it 40,700 36% 40,700 36% 41,200 39%
AiE—KK JTA AiE—KK 33,500 31% 33,500 31% 33,950 33%
AiE— KK JTA BiE—H4E (FRER) 14,500 37% 14,500 37% 14,700 39%
JAL/JTA | H48 (BRER) — KBk 19,000 44% 19,000 44% 19,250 47%
(48 (3RER) ] H 33,500 41% 33,500 41% 33,950 44%
RE-2THE JTA AiE— i (FRER) 14,500 37% 14,500 37% 14,700 39%
JTA MR —2EHE 24,150 37% 24,150 37% 24,750 39%
[iddE (38ER) ) &t 38,650 37% 38,650 37% 39,450 39%
LiE—1EH JTA AiE—H4E (FRER) 14,500 37% 14,500 37% 14,700 39%
JTA hfE (BRER) — 18R 16,100 41% 16,100 41% 17,250 42%
(48 (3RER) ] £t 30,600 39% 30,600 39% 31,950 41%
B — P AREH) |JTA/RAC| B — il (3% 9,800 44% 11,950 32% 12,550 33%
EH—RE JTA BEO—ER 38,100 31% 38,100 31% 38,700 33%
B — KK JTA/RAC| B —iH#E(38) 9,800 44% 11,000 37% 11,200 40%
JAL/JTA| 8 (BRER) — KB 21,050 38% 21,050 38% 22,300 39%
[ifa (38ER) ) &t 30,850 40% 32,050 38% 33,500 39%
AKE — i8R (BBEFH) |JTA/RAC| AXE —ihil (ARER) 4,900 58% 4,900 58% 4,900 60%
SRE — i (FBER) RAC SRE — i (FBER) 12,900 59% 12,900 59% 13,300 60%
BERE—EEXXE JAC BRE-—ETEKXE 15,750 32% 15,750 32% 16,150 36%
BERE—f#ZE JAC BERE—f#ZE 18,500 31% 18,500 31% 18,500 36%
ERE-TETE JAC BERE-TETE 9,200 27% 9,200 27% 9,200 27%
BERE-—EBAE JAC BERE-—EBAE 10,200 27% 10,200 27% 10,200 27%
ERE—ERE JAC BERE—-ERE 18,250 25% 18,250 25% 18,250 25%
BRE—HKEE JAC BERE—HKEE 22,350 24% 22,350 24% 22,350 249
BERE—5H JAC BERE—5H 23,500 24% 23,500 24% 23,500 24%
BEEXXE—ERE JAC BEEXXE—ERE 6,800 28% 6,800 28% 6,800 28%
BEXE—fZE JAC BEXE—fZE 9,750 27% 9,750 27% 9,750 27%
TEERE—HKBE JAC | BEXRE—HKBE 12,450 26% 12,450 26% 12,450 26%
BERE—HKRE JAC BERE-5H 8,000 59% 8,000 59% 8,000 59%
(5 JAC Bim—HkBRE 4,450 56% 4,450 56% 4,450 56%
e &t 12,450 58% 12,450 58% 12,450 58%
BEERE—5H JAC BEERE—5H 14,600 26% 14,600 26% 14,600 26%
BERE—EH JAC | BERE—HKRE 9,200 45% 9,200 45% 9,200 45%
. JAC K RED— 5 5,400 46% 5,400 46% 5,400 46%
[k BER] it 14,600 46% 14,600 46% 14,600 46%
HKBE — 55 JAC HKBE — 5 7,150 29% 7,150 29% 7,150 29%
HE R JAC HE R 9,550 22% 9,550 22% 9,550 22%

BISIEQ BEY TKAZEEE IR
EI5IRQ: E—V I K AL EES %Lt




JTA/RAC

____EEEAE 2012/8/2 ~
10/1-5. 10/9-27
=R B4 = 447 Aﬁ""‘ﬁﬂ 547 B)E"“‘Hj - 447 (‘ﬁ%gﬂ = 447 D;E*“Hj = 447 D;E"“‘Hj
iy ‘= ek = w7 i = i b = w7 b g w7
mamE THR gmiw ) 05, BAE gziw B | mamm TR gm0 |mamm TR gpin 05| g mp TR ggim 05

B (IR == M GRE) | _NUS51 | BTE 9200 | 47% Bl 7.200 | 59 BIH 6,200 | 65% 3HHT | 5200 | 70 7HRT | 4600 | 74
RAC801| Bi7H 9200 | 47% 7200 | 59 [Hil= 6200 | 65% 3HF] | 5200 | 70 7HR] | 4600 | 74
NU557 | BiH 9200 | 47% 7,200 | 59 L= 6,200 | 65% 3HH] | 5200 | 70 THBI | 4600 | 74
NU559 | BiH 9200 | 47% 7,200 | 59 [Hil= 6200 | 65% 3HH] | 5200 | 70 7HH] | 4600 | 74
NU563 | B8 9200 | 47% 7,200 | 59 L= 6,200 | 65% 3HH] | 5200 | 70 THBI | 4600 | 74
NU567 | BB 9200 | 47% 7,200 | 59 L= 6,200 | 65% 3HF] | 5200 | 70 THBI | 4600 | 74
NU569 | BiH 9200 | 47% 7,200 | 59 [Hil= 6200 | 65% 3HF] | 5200 | 70 7HH] | 4600 | 74
NU571 | BB 9200 | 47% 7,200 | 59 L= 6,200 | 65% 3HF] | 5200 | 70 THBI | 4600 | 74
NU573 | BB 9200 | 47% 7,200 | 59 L= 6,200 | 65% 3HF] | 5200 | 70 THBI | 4600 | 74
=EoH [ NUS52 | RIH 9200 | 47% 7200 | 59 B E 6.200 | 65% 3HAT | 5200 | 70 7HAT | 4600 | 74
NU556 | BiH 9200 | 47% 7,200 | 59 [Hil= 6200 | 65% 3HF] | 5200 | 70 7HR] | 4600 | 74
NU558 | B H 9200 | 47% 7,200 | 59 L= 6,200 | 65% 3HF] | 5200 | 70 THBI | 4600 | 74
NU560 | B8 9200 | 47% 7,200 | 59 L= 6,200 | 65% 3HF] | 5200 | 70 THBI | 4600 | 74
NU564 | B8 9200 | 47% 7,200 | 59 L= 6,200 | 65% 3HF] | 5200 | 70 THBI | 4600 | 74
NU566 | B H 9200 | 47% 7,200 | 59 [Hil= 6200 | 65% 3HF] | 5200 | 70 7HH] | 4600 | 74
NU570 | BB 9200 | 47% 7,200 | 59 L= 6,200 | 65% 3HF] | 5200 | 70 THBI | 4600 | 74
NU572 | BB 9200 | 47% 7,200 | 59 L= 6,200 | 65% 3HF] | 5200 | 70 THBI | 4600 | 74

RAC804| EiH 9200 | 47% 7200 | 59% BB 6200 | 65% 3HE] | 5200 | 70% JEE] | 4600 | 74%




[$@%511/3/7 1 BE&(10H6H ~8AHES) ae

EE@EAR . 2012/8/2 ~

10/6 10/7 10/8

XFY B2 447°A | 349B | 847°C | 849D  447°E | 547A | 447B  447°C | 449D  H47E | 547A  547B | 447C | 447D  H47E

BEY 2R EEH 54 EEHY | EEYE A 28y S8 EEY|EE54E EEHE EEHE BEE 288

4B (INER) ==& |48 (I%) | _NUS551 | 9,200 | 7,200 | 6,200 | 5200 | 4,600 [ 9.200 | 7,200 | 6,200 | 5,200 | 4,600 [ 9,200 | 7,200 | 6,200 | 5,200 | 4,600

RAC801] 9200 | 7200 | 6,200 5200 4600 | 9200 7200 6,200 5200 4600 | 9200 7200 6,200 5200 4600

NU557 [ 9,200 | 7,200 6,200 5200 4,600 | 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU559 [ 9,200 | 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU563 [ 9,200 = 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU567 | 9,200 = 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU569 [ 9,200 = 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU571 | 9,200 | 7,200 6,200 5200 4,600 | 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU573 | 9,200 | 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

EEES NU552 | 9,200 & 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU556 | 9,200 = 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU558 | 9,200 = 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU560 | 9,200 = 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU564 [ 9200 = 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU566 [ 9,200 = 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU570 | 9,200 = 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

NU572 | 9,200 | 7,200 6,200 5200 4,600 [ 9200 7,200 6,200 5,200 4,600 [ 9200 7,200 6,200 5,200 4,600

RAC804] 9200 | 7,200 | 6,200 | 5200 4600 | 9200 7,200 6,200 5200 4600 | 9200 7,200 | 6,200 5200 4600




ril[agllgll‘EEE(‘IOE‘lE~27EE§ﬁt2 JTA/RAC

SEEEAR . 2012/8/2 ~

10/1-5,10/9-27 10/6 10/7 10/8

547A 517B 447°A | 5347B | 4477A | 347B | 547A | 447 B

=M B = wEm T e BEW Sy B P B S,
,E\%]\,ﬁﬁ[E EE%E %‘]mz’ﬁ ﬁ%% ,E\%]\,ﬁﬁ[E EE%E %‘]mz’ﬁ ﬁ%% EE&E EE&E EE&E EE&E EE&E EE&E

IR AER) == [FEE8Hm %[ NU551 | 28HAET | 4100 | 77% 458 FI | 4000 | 77% 4100 | 4,000 | 4,100 | 4,000 | 4,100 | 4,000

RACS801 | 28HAI | 4,100 |« 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU557 | 28HAT | 4100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU559 | 28HAT | 4100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU563 | 28HHAT | 4100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU567 | 28HHT | 4100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU569 | 28HHAT | 4100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU571 | 28HHT | 4100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU573 | 28HHT | 4100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

BEEH NU552 | 28HHT | 4,100 | 77% 458 FI | 4000 | 77% 4100 | 4,000 | 4,100 | 4,000 | 4,100 | 4,000

NU556 | 28HHT | 4,100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU558 | 28HAT | 4,100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU560 | 28HHT | 4100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU564 | 28HHT | 4100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU566 | 28HHT | 4100 | 77% 45HRT | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU570 | 28HAT | 4100 | 77% 45871 | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

NU572 | 28HHT | 4100 | 77% 45871 | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4,000 | 4,100 | 4,000

RAC804 | 28HF | 4,100 | 77% 45HB7 | 4000 | 77% 4,100 | 4,000 | 4,100 [ 4.000 | 4.100 | 4.000




[R——%BFIEEXRA0A1H~27HEFER) TTARAC

EBEEAR - 2012/8/2  ~
4 10/1-5,10/9-27 10/6 | 10/7 | 10/8
he< ]
ok BE | BM mms BEY mx | mus|ene|ess
25| %
RS (BRER) == | h&E (B8ER) % [ NUs51 | 55HAT [ 3,900 78% 3,900 | 3,900 | 3,900
RAC801| 55H @I | 3,900 | 78% 3,900 | 3,900 | 3,900
NU557 | 55H %7 | 3,900 | 78% 3,900 | 3,900 | 3,900
NU559 | 55HHT | 3,900 = 78% 3,900 | 3,900 | 3,900
NU563 | 55H 7 | 3,900 | 78% 3,900 | 3,900 | 3,900
NU567 | 55HHT | 3,900 @ 78% 3,900 | 3,900 | 3,900
NU569 | 55H 7 | 3,900 | 78% 3,900 | 3,900 | 3,900
NU571 | 55HHT | 3,900 = 78% 3,900 | 3,900 | 3,900
NU573 | 55H %7 | 3,900 | 78% 3,900 | 3,900 | 3,900
BO% NU552 | 55H8i1 | 3,900 78% 3,900 | 3,900 | 3,900
NU556 | 55H 7 | 3,900 | 78% 3,900 | 3,900 | 3,900
NU558 | 55HHT | 3,900 @ 78% 3,900 | 3,900 | 3,900
NU560 | 55H &7 | 3,900 | 78% 3,900 | 3,900 | 3,900
NU564 | 55HHT | 3,900 @ 78% 3,900 | 3,900 | 3,900
NU566 | 55H &7 | 3,900 | 78% 3,900 | 3,900 | 3,900
NU570 | 55HRT | 3,900 @ 78% 3,900 | 3,900 | 3,900
NU572 | 55H &7 | 3,900 | 78% 3,900 | 3,900 | 3,900
RAC804| 558 | 3,900 | 78% 3,900 | 3,900 | 3,900




[FEMBE]7 BEXR(10F1H~2781F]S) JAVITAVAC/RAC

EERAR . 2012/8/2 ~

RERH 10/1-5  @EH B
B =Rl 10/e27 | Eim|E s 10/6-8 g

XED | XKE@

RE(CPHE) =8 [EXECHH) |4 GRE) [JAL/JTA|JTA/RAC| 36,000 38% [— J—

o HE  [F#FBFH) [JUTA/RAC|JAL/JTA| 36,000 38% — p—
HRCHA)=RAE [ERCHE) FEFE GRH) [JAL/JTA| JTA 36,300 43% J— J—
AiEHX R3] JTA [JAL/JTA[ 36,300 43% J— p—
KB (FFH) ==d [ KR (FF) F| A48 F&HE) | JAL [JTA/RAC| 32,800 37% — J—

EHHE  [PEJRE)[JTA/RAC]  JAL 32,800 37% J— p—

KPR (BFFE) == | KBk (BEF8) | 448 GRER) |JAL/JTA[JTA/RAC| 32,800 37% J— J—

KB (R =H1E [ KRUFEFD #|HHEGREHE) | JAL JTA 33,900 41% J— J—

AiEH  |[HEEGERE)| JTA JAL 33,900 41% p— p—
KB (BFFE) =H1E | Kbk (BEFm) 5|44 GRER) |JAL/JTA]  JTA 33,900 4% —— J—
AiEF  |HEGREH)| JTA [JAL/JTA[ 33,900 41% p— p—
LHE(PE) =G [T P X8 FEH)| JTA [JTA/RAC| 34,600 38% —— j—

EH%E [P GRE) [JTA/RAC| JTA 34,600 38% J— p—

/I:
/I:
/I:
/I:
/I:
/I:
/I:
EH%E [P GRE) [JTA/RAC|JAL/JTA| 32,800 37% J— p—
/I:
/I:
/I:
/I:
/I:
/I:
/I:

ZEE(PE) =hlE | AaE (P X TE G5 | JTA JTA 36,200 41% p— —

AiER | MEGER)| JTA JTA 36,200 41% p— —

IR (T8 =@ BB (LI Fr =) [ RECHE)|[  JAL  |JAL/JTA[ 41,000 45% - —

KB (B8#E)[ JAL |JAL/JTA| 41,000 46% J— p—

HEERED|  JAL JTA 41,000 46% — p—

1& ] JAL JTA 41,000 48% — p—

hHE (A8 36| R CHEA) [JAL/JTA|_JAL 41,000 45% p— —

ABx (B8E) [JAL/JTA|  JAL 41,000 46% J— p—

HEERE)| JTA JAL 41,000 46% —— —

1 it JTA JAL 41,000 48% — p—

BE=2H EE%X [R5 JTA [JTA/RAC] 26,200 42% p— p—
=EEH  [FE@BE) [JTA/RAC]  JTA 26,200 42% J— p—
B =H18 EEFE [HEEE)| JTA JTA 33,900 33% p— p—
GiEH  [HE@ERE)| JTA JTA 33,900 33% p— —
MA=ETH NAFE [HEFRE) | JTA |JTA/RAC| 32,500 44% p— p—
EnH |8 @8H) [JTA/RAC]  JTA 32,500 44% — -
IMR=F1E MAZE  [HEGRE) | JTA JTA 36,300 43% p— —
GiEH  [HE@ERE)| JTA JTA 36,300 43% p— —
== EILFE [HFEGEE)| JTA [JTA/RAC| 28400 45% p— p—
=mEEH [P @) [JTA/RAC]  JTA 28,400 45% J— p—
fIl=%"1iE B [HEGH)| JTA JTA 37,000 35% —— J—
GiEH  [HE@RE)| JTA JTA 37,000 35% p— —

RGNS =FFK [PEGEEH) F|FRE(PH) [JAL/JTA|  JAL 37,200 48% —— —

EHHE  |EECAA)| JAL  [JAL/JTA| 37,200 48% J— p—

RGNS ==R B GRS F|FRE(PH) [JAL/JTA|  JAL 37,200 47% —— —

=R% [RE=CRE)| JAL [JAL/JTA[ 37.200 47% p— p—

RGNS =FE [PEEGRE) R FRE (PH) [JAL/JTA|  JAL 36,000 45% —— —

MEAXX |EFECAA)| JAL  [JAL/JTA| 36,000 45% J— p—

B (RS =1uFz (RS R ER CHA) [JAL/JTA|  JAL 36,000 39% —— —

Wik HRECHHA)| JAL |JAL/JTA| 36,000 39% — —

HEEBEH) =LE [HEGREH) R B JTA JAL 38,900 45% j— J—

=3 B[ JAL JTA 38,900 45% p— —

RGNS =/ [PEE GIRER) R (PH) [JAL/JTA|  JAL 34,900 44% —— —

IMAFE |ERCAE)| JAL  |[JAL/JTA| 34,900 44% p— —

RGNS =58 PGS # B if] JTA _[JUAL/JAC] 25,200 51% [— J—
=05 2 |JAL/JAC] JTA 25,200 51% — J—
EE(RE) =l P8 GRER) R &[] JTA JAC 23,500 51% j— —

NS =i JAC JTA 23,500 51% p— —




rEEI528 NEER(1081B~148EES) JAL/JTA/JAC/RAC

SEEEAE . 2012/8/2  ~

e 5 | e vz —— s,
B g | HERE | A fhg}i = 10/6 g;% 10/7 f}lg’li 10/8 g;%
| | XM | RE@ = z E> e

BR(CAE) =524 [EzCHHE) %[ (R%H) [JAL/JTA[UTA/RAC| 22200 | 62% |£:23,700. 1:22,400 — | — 22200 62% | — [ —
|| =EE%  [H#GBREH)[JTA/RAC[JAL/JTA| 22,100 | 62% -— | — 22,100 62% | — | —
RRCHB) =R\ [ERCHE) F|H# (35) |JAL/JTA| JTA | 25400 | 60% |£:27,000. 1:26,900. H:25,000 — | — 125000 61% [ -— [ —
AIEH  |AEEGRE)| JTA |JAL/JTA| 26,600 | 58% — | — 126600 58% | — [ —
KR (FFH =% [XKRUERF 48 F@BF) | JAL |[JTA/RAC| 16,900 | 67% |<+:18,400. H:18,900 -— | -—— [18,900] 63% [ -— | -—
B | (RER) [JTA/RAC| JAL | 16,900 | 67% — | — 116,900 67% [ -— [ —
K (BTE) == | XMk (BEFE) | 548 (BBE) [JAL/JTA|JTA/RAC| 16,900 | 67% |€:18,400. H:18,900 — | -—— [18,900] 63% [ -— | -—
|| =E% [E(IRE)[ITA/RAC|JAL/JTA| 16,900 | 67% — [ — [16900 67% | -— —
KB (FFH) =518 [ KR (FFH) 968 (RE) | JAL JTA | 20300 | 65% |£+:21.900 — | — 120300 65% | -—  —
AIES  |HEGREH)| JTA JAL | 21,400 | 63% — | — 21400 63% | — ] —
Kb (BT =F1E | ABx (BFE) | 448 (ARER) [JAL/JTA| JTA | 20300 | 65% |&3:21.900 — [ — 120300 65% | — ] —
AiE%  |AEEGRE)| JTA |JAL/JTA| 21,400 | 63% — | — 21400 63% | — ] —
AHE(PE) =E0|2aE (P X HBGRE;) | JTA |JTA/RAC| 18900 | 66% |<&:20,800 — | — 118900 66% | -— | —
Ehs | (RE) [JTA/RAC] JTA | 19,900 | 65% [H:21.600 -— | — 121600 61% | — | -—
AZEE(PE) =FE| 252 (P ETEGRE) | JTA JTA | 23400 | 62% % +:25300 — [ — [23400 62% | -—  —
AiEE PR ERER) | JTA JTA | 24400 | 60% [H:26.100 — | — 126100 58% | — [ —
HIRHTFR) =#@ BB | ALIE TR R[RRCAE) | JAL [JAL/JTA[ 29,400 | 60% |A:29,800, £:33,500, £:30,600, H:32,100 | — | —— [32,600 56% | —  -—
AW (BAFE) | JAL [JAL/JTA[ 24,200 | 68% |A:25,800, £:26,600, £:25,000, H:27,400 | — [ — [270800] 63% | —  —
2EE(PE|  JAL JTA | 28400 | 63% |< H:31,900. £:31,300 — | — [31,900 58% | -—  —
L | &M@ JAL JTA [ 27,800 | 65% |4:29,100. £:28,600. H:29,900 — | — (29,900 62% | -—  —
%8 (P E) %[ == CHE) [JAL/JTA[ JAL | 29,500 | 60% [A:30,300. £:32,400, £:31,600, H:31,700 [ -— | -— [30400] 59% | — | —-
AR (BA7) [JAL/JTA[  JAL [ 27000 | 64% |%:27,800, H:29,400 — | — (29400 61% | -—  —
2EE(HE)| JTA JAL [ 27,900 | 63% [%:30,700, H:33.600 — | — [33900 55% | -—  -—
[ JTA JAL | 27800 | 65% | +:30,700. H:29.700 — [ — (29700 62% | -—  —
wER=2%H EE% [FEH)| JTA [JTA/RAC| 17,900 | 60% |%::18,500 —— —— [17.900] 60% | — | ——
B |k (RER) [JTA/RAC| JTA | 17,900 | 60% — | — 116900 62% [ -— | —
ER=H1E ERFE [MEGR)| JTA JTA [ 22,400 | 56% |%:23,000 — | — 122400 56% | — | —
AiEFE B (ERER) | JTA JTA | 22400 | 56% |H:21.400 — | — 21400 58 | — [ —
IMR=EH IMNZE [ GRE) | JTA [JTA/RAC| 22,900 | 61% |+ H:25,300 — | — [25300] 57% [ — | —
BEoa% | #@CGBEH) [JTA/RAC] JTA | 24900 | 57% &+ H:27.900 — [ — [27.900] 52% | -—  —
IMR=FR1E IMRFE AR GIRER) | JTA JTA | 23900 | 63% |&+ H:26,300 — | — 1[26,300] 59% [ — [ —
AiEE [ (ERER) | JTA JTA | 23900 | 63% [#+ H:26,300 — [ — 126300 5% | -— [ —
EL=2% RELZE [#GRE)| JTA |JTA/RAC| 22300 | 57% |£+:25300 — [ — 130000 42% [ — [ —
Ems | (RE) [JTA/RAC] JTA | 22,300 | 57% [H:25300 — | — 130000 42% [-— ] —
&l =F18 RELLIFE S| JTA JTA | 21,800 [ 62% % +:24,200 — [ — 27900 51% [ — [ —
| | miER [HEGE®H)| JTA JTA [ 25100 | 56% |H:27,500 — | — 181,200 45% | — | —
SR8 (RE) =F & DT BEH) == CHE) [JAL/JTA] JAL | 30,800 | 57% [£:31,600. H:32,000 — | — 32500 54% | — [ —
| | FH® |[®mEE)| JAL |JAL/JTA| 30100 [ 58% [£:34,900. £:30.900 — [ — (30100 58% | -—  -—
AR (RER) ==IR 948 (RE) | FE CRMA) [JAL/JTA|  JAL | 28800 | 59% |H:31,000 -— | — 131,000 56% | — | —
I R¥ |[RmmCRE)|[ JAL [JAL/JTA[ 28,100 | 60% |A:28,700, £:30,000, :29,700 — | — (28100 60% | -—  —
SR8 (FRER) =FE 948 (BE) | CRAE) [JAL/JTA] JAL | 26,700 | 59% |A+:28300. %£:28,700. H:28,900 — | — 129,700 55% | — | —
| | ®E¥ |[®mRGHE)| JAL |JAL/JTA| 28300 | 57% |A:28700. %:32400, +:30,300, H:28400 | — | — [28400] 57% | — | -—
SREE(ARE) = LfZ [3h#8 GRER) %[ CHE) [JAL/JTA] JAL | 26,800 | 55% Sy ey B [P —
| mE [mmEGE)| JAL [JAL/JTA[ 26200 | 56% |%:29,300. 1:26,400 RN e S O —— —
R (RE) =lE BB E|  EE JTA JAL | 29,300 | 59% [%::30,200, £:29,800, H:30,900 — [ — 130900 56% | — | —
— T =] JAL JTA [ 28900 | 59% [%:29,400, H:29,000 -— | — 129,000 59% | -— | —
SEE (BE) =/ [RGB X[ CRE) [JAL/JTA[  JAL [ 27,800 | 56% |%:28,600. 1:27,000. H:30,800 -— | — 130800 51% | -—— | —
| vE  |EFCEA)| JAL |JAL/JTA| 27100 | 57% |#£:31.900. £ H:27.900 — [ — 127900 56% | — [ —
B RER) =24 DMERBR X BE JTA_[JAL/JAC| 24,700 | 52% T - - =T ——
| 5 1@ |JAL/JAC| JTA | 24700 | 52% - [ = | — [ —— =
SRR GERE) =l [PEE(RB) K| B JTA JAC | 23000 | 52% Sy Py B [P —
HALLIZE 1 JAC JTA | 23000 | 52% S B Iy e —




[SEAHEIS(28 1 BEE

ﬁ(‘l OH 1 5 E ~27 E Eiﬁ) JAL/JTA/JAC/RAC

EEHEAE 2012/8/2 ~
EL-— P NF i
X #Hatd HERH 10/15-27 fu;?é TES
XEQD | XE@ -
HRCHAR)=%8% |EZECHH)Z |4 GB5) |JAL/JTA|JTA/RAC| 21,200 64% |£:24,300. 1:21,400
=Eo¥ [P @ERF) [UTA/RAC|JAL/JTA| 21,100 64%
HRCHA)=RAE [ERCHE) FEFE GRH) [JAL/JTA| JTA 24,600 61%  £:26,600, 1:25900, H:24,200
FiEFE  [HE@HE)| JTA [JAL/JTA| 25,600 60%
K (FRH) =2 [KERUE | H#EGRE)| JAL [JTA/RAC| 16,900 67% £ +:18,400. H:18,900
TEHHE [P @RE) [JTA/RAC|  JAL 16,900 67%
Kb (Bd8) ==& [ KR (BEFE) & |48 (FRER) | JAL/JTA[JTA/RAC| 16,900 67% £ +:18,400. H:18,900
=Eo¥ [P @ERF) [JTA/RAC|JAL/JTA| 16,900 67%
K (R =F1E [KR(F) HE|HE G5 | JAL JTA 20,300 65%  £+:21,900
AiEH GRS JTA JAL 21,400 63%
KB (B7) =F18 [ Kk (B9FE) F|F# (BRE) [JAL/JTA|  JTA 20,300 65% £ +:21,900
AiEX  [HEGRE)| JTA [JAL/JTA] 21,400 63%
ZEE(RE) =20 242 (i) & FEGE)| JTA |JTA/RAC| 18,900 66% £ 1:20,800
EoE [R5 [JTA/RAC|  JTA 19,900 65% | H:21,600
ZEE(RE) =F1E[a5E ) Z 08 (FEH:) | JTA JTA 23,400 62% £ +:25300
BiEE  |HEGRE)| JTA JTA 24,400 60% | H:26,100
LIREFR) =@ @B [fIRFFR R[EZT A JAL  [JAL/JTA] 28,600 62%  |A:29,000, £:31,900, F:30,600, H:30,400
KB (B87E)[ JAL [JAL/JTA| 23,400 69% |K:25,000, £ +:24,200, H:26,600
ZHEE(HE)]  JAL JTA 26,400 65% |£:29,600, 1:29,300, H:28,000
& JAL JTA 27,800 65% |£:29,100, £:28,600, H:29,900
iR (BRER) | HE CRA) |JAL/JTA[  JAL 27,900 62% | 7<:28,700. £:30,800. 1 H:30,000
KB (B878) [JAL/JTA]  JAL 26,600 65% | H:28,200
Z2HEEHE] JTA JAL 26,300 65% |£:29,100, £:27,000, H:31,600
& JTA JAL 27,800 65% |% 1:30,700, H:29,700
BEE==9 % P @RE)| JTA  [JTA/RAC| 17,900 60% |%::18,500
TEHHE [P @RE) [JTA/RAC]  JTA 17,900 60%
BE=hiE EE%E  PEGREH)| JTA JTA 22,400 56%  |%:23,000
BiEE  |HEGRE)| JTA JTA 22,400 56% | H:21,400
IMA=ET INDZE PR (RER) | JUTA  |JUTA/RAC| 22,900 61% £+ H:25,300
=EEH [P GBE) [JTA/RAC]  JTA 24,900 57% £+ H:27,900
IMNA=F1E N RS | JTA JTA 23,900 63% &1 H:26,300
AiEH GRS JTA JTA 23,900 63% &1 H:26,300
EIL==% ML [FE@5)| JTA |JTA/RAC| 22300 57% £ +1:25300
=mEEH [P @BE) [JTA/RAC]  JTA 22,300 57% | H:25,300
EL=%Hi8 FELF [FEG@EEH)| JTA JTA 21,800 62%  $+:24200
AiEH GRS JTA JTA 25,100 56% | H:27,500
HiEEE) =FF P GRE) B EE CHA) |[JAL/JTA|  JAL 30,000 58% | £:30,800, H:31,000
FH¥E  |EEEH)| JAL  [JAL/JTA| 29,300 59% £:34,100, 1:30,100
HEE(BEH) ==iR [FEGREH) F|[ERCHA) [JAL/JTA|  JAL 28,000 60% | H:31,000
=R%E [FEZCEAR)| JAL  [JAL/JTA] 27,300 61% |7:27,900. £:30,000., 1:28,900
iR (ARE) =fE P8 GRE) | EE CHAE) [JAL/JTA|  JAL 25,900 60% | A:27,500, £:27,900, 1:26,300, H:30,500
MEfE  [ERGCE)| JAL  [JAL/JTA[ 27,500 58% | A:27,900, £:31,600, 1:30,000, H:27,600
HEE(RE) =1L [FEGREH) ([ ERCHA) [JAL/JTA|  JAL 25,900 56%
W% [EmCEHE)| JAL  [JAL/JTA[ 25300 57% |%:29,300, 1:25,500
HEEREH) =LE [HEGREH) R B JTA JAL 29,300 59% £5:30,200, 1:29,800, H:30,900
=% & ] JAL JTA 28,900 59% |£:29,400, H:29,000
iR (ERE) =/ P8R (BRER) R CHHA) [JAL/JTA|  JAL 27,000 57%  £:27,800, 1:26,200, H:30,800
MR [ERCEAAE)[ JAL  [JAL/JTA] 26,300 58% |£:31,100, £:27,800, H:27,100
iR (EE) =54 P GRE) R [ JTA [JAL/JAC] 24,700 52%
ERES SR |JAL/JAC| JTA 24,700 52%
iR (g =L R (R B & [ JTA JAC 23,000 52%
LNTIE i JAC JTA 23,000 52%




